Solution of the day/ September - 7, 2019
6" Class
» Mathematics: Ans : (A)
Let Sneha has Rs.x .. Sidak has Rs. (41 — x)

According to question, lofx 2+= (41 x):>1x 2+ 41 x
4 4 7 7

1 1 14+41 (7+4j 55
—X+=X= = X -

7 28 )0~

11 55 55x28
=5 —X=—=X=
28 7 11x7

.. Sneha has Rs. 20
» Physics: Ans: (D)

» Chemistry: Ans: (A)
» Biology: Ans: (D)

7" Class
» Mathematics : Ans : (C)
a b c b-c

X+y Yy+zZ zZ-X Yy+z-z+X

a =b_C:>a=b—c:>b=c+a
X+Y X+y

» Physics: Ans: (B)
» Chemistry: Ans: (C)
» Biology: Ans: (B)
8" class
» Mathematics: Ans: (D)

(@—@)2+4@=§3a+b—2@+4m_§

a-b 3 a-b 3
a+b+2J__ 5_ (J5+J_f §:>J5+J6=§
“a-b 3 (Jatib)a-vb] 3 Ja-vb 3

3J/a +34 =5.a-5'b

Ja 8
&E=8ﬁi:7§=5
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Physics: Ans: (C)

Chemistry: Ans: (B)
Biology: Ans: (C)
9™ Class

Mathematics : Ans : (C)

-» arAPAB = arAPBC A

=arAPCA /\
P
= larAABC
3

B

@]

= P is the centroid of AABC
Physics: Ans : (B)
Chemistry: Ans: (B)

Biology: Ans: (D)
10" class
Mathematics: Ans : (B)

(1+tan®+sec6)(1+cotd —coseco)

cos0 1 sin® 1 1 1 1
+1

1+——+ — + =
sin® sin® coso cosO cosO sin® sinb.cosO

cose+sin6 ~ 1 _2+cosze+sin26—l
sin® cos® sin®.cos® sin0.cos 0

=2+0=2
Physics: Ans: (A)

Chemistry: Ans: (C)

Biology: Ans: (C)

Reasoning : Ans: (C)



